
Maple Leaf Wheelchair © 2021 
 

 
 

(All Images are for Visual reference please use the Part Description for determining the correct required part.) 

    Page | 1  
 

 

 

PARTS CATALOGUE 

Hardware 

 

 

 

 

             

 

 

6540 Tomken Road 
Mississauga ON L5T 2E9 
905.564.2250 
905.564.5424 
1.800.362.0873 
www.mapleleafwheelchair.ca 

 
 



Maple Leaf Wheelchair © 2021 
 

 
 

(All Images are for Visual reference please use the Part Description for determining the correct required part.) 

    Page | 2  
 

 

Part No. Part Name  Part Description Cost  

W001AR 
NL 

Super Tilt and 
Low Rider 
Axle Receiver 
Lock Nut 
 
(3/4 - 20 Nylon 
Lock Jam Nut) 

3/4-16 UNF Nylon Lock Jam Nut. 
 
Used for the Axle Receiver Nut 
in the Super Tilt and Low Rider 
Wheelchair.  

 
 
 

4/ 
each 

 

W001AR 
NEG 

NRG+ Gold, EZ 
Ride and Swift 
Axle Receiver 
Jam Nut  
 
(3/4 - 20 Jam 
Nut) 

3/4-16 UNF Jam Nut. 
 
Used for the Axle Receiver Nut 
in the NRG+ Gold, EZ Ride and 
Swift Wheelchair. 

 
 

3/ 
each 

 

HDW001 Rear Axle Nut 
1/2" 
 
(Swift, NRG+ 
Gold, EZ Ride)  

1/2-13 UNC Nylon Lock Jam 
Nut. 
 
Rear Axle Nut Measuring 1/2 

Inch Diameter having a coarse 
thread. 
 
(Used in Type 1, 2 & 3 Rear Axles 
and mentioned wheelchairs) 

 
 

 
3/ 

each 

 

HDW003 Rear Axle Nut 
7/16" 
 
(Access, NRG+, 
NRG+ Recline 
and 
Commodes) 
 
 

7/16-20 UNF Stover Lock Nut. 
 
Rear Axle Nut Measuring 7/16 

Inch Diameter having a fine 
thread. 
 
(Used in Type 4 Rear Axles and 
mentioned wheelchairs) 

 
 
 

3/ 
each 

 

CASF005 Fork Stem 
Lock Nut 1/2"  

1/2-20 UNF Nylon Lock Jam Nut. 
 
Fork Stem Nut. 

 
 

3/ 
each 

 

Hardware 



Maple Leaf Wheelchair © 2021 
 

 
 

(All Images are for Visual reference please use the Part Description for determining the correct required part.) 

    Page | 3  
 

HDW006 5/16" Nylon 
Lock Nut 
 
(UNC) 

5/16-18 UNC Nylon Lock Nut.   
 

 
0.50/ 
each 

 

N1L 5/16" Nylon 
Lock Jam Nut 
 
(UNC) 
 

5/16-18 UNC Nylon Lock Jam 
Nut. 

 
 
 

0.50/ 
each 

 
N1R 5/16" Stover 

Nut 
 
(UNC) 

5/16-18 UNC Stover Nut.  
 
 

0.50/ 
each 

 

N2L 1/4" Nylon 
Lock Nut 
 
(UNC) 
 

1/4-20 UNC Nylon Lock Nut. 
 

 
 
 

0.50/ 
each 

 

HDW009 1/4" Nylon 
Lock Jam Nut 
 
(UNC) 
 

1/4-20 UNC Nylon Lock Jam 
Nut. 
 

 
 
 

0.50/ 
each 

 

HDW101 1/4" Jam Nut 
 
(UNC) 
 

1/4-20 UNC Jam Nut. 
 

 
 
 

0.50/ 
each 

 



Maple Leaf Wheelchair © 2021 
 

 
 

(All Images are for Visual reference please use the Part Description for determining the correct required part.) 

    Page | 4  
 

N2R 1/4" Stover 
Nut 
 
 
(UNC) 

1/4-20 UNC Stover Nut. 
 

 
 
 

0.50/ 
each 

 

N2L 1/4" Flange 
Nut 
 
(UNC) 
 

1/4-20 UNC Flange Nut. 
 

 
 

1/ 
each 

 

HDW012 1/4" Square 
Nut 
 
(UNC) 
 

1/4-20 UNC Square Nut. 
 

 
 

2/ 
each 

 

N2ROS 1/4" Offset 
Nut 
 
(UNC) 
 

1/4-20 UNC Offset Nut. 
 

 
 

2/ 
each 

 

HDW010 1/4" Nylon 
Lock Jam Nut 
 
(UNF) 
 

1/4-28 UNC Nylon Lock Jam 
Nut. 
 

 
 
 

0.50/ 
each 

 
N6L M6 Nylon 

Lock Jam Nut 
M6 Nylon Lock Jam Nut. 
 

 
 
 

0.50/ 
each 

 



Maple Leaf Wheelchair © 2021 
 

 
 

(All Images are for Visual reference please use the Part Description for determining the correct required part.) 

    Page | 5  
 

HDW104 #10 Nylon 
Lock Nut  
 
(UNF) 

#10-32 UNC Nylon Lock Nut.  
 

0.50/ 
each 

 
N3LT #10 Nylon 

Lock Jam Nut  
 
(UNF) 

#10-32 UNC Nylon Lock Jam 
Nut. 

 
 

0.50/ 
each 

 
HDW074 5/16" x 3/4" 

Hex Cap Bolt 
5/16"Dia Hex Cap Bolt 
3/4" Long (UNC) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1/ 
each 

 

HDW082 5/16" x 1" Hex 
Cap Bolt 

5/16"Dia Hex Cap Bolt 
1" Long (UNC) 

HDW083 5/16" x 1 1/4" 
Hex Cap Bolt 

5/16"Dia Hex Cap Bolt 
1 1/4" Long (UNC) 

B1H14 5/16" x 1 1/2" 
Hex Cap Bolt 

5/16"Dia Hex Cap Bolt 
1 1/2" Long (UNC) 

HDW084 5/16" x 1 3/4" 
Hex Cap Bolt 

5/16"Dia Hex Cap Bolt 
1 3/4" Long (UNC) 

B1H20 5/16" x 2" Hex 
Cap Bolt 

5/16"Dia Hex Cap Bolt 
2" Long (UNC) 

HDW105 5/16" x 2 1/4" 
Hex Cap Bolt 

5/16"Dia Hex Cap Bolt 
2 1/4" Long (UNC) 

HDW106 5/16" x 2 1/2" 
Hex Cap Bolt 

5/16"Dia Hex Cap Bolt 
2 1/2" Long (UNC) 

HDW021 5/16" x 2 3/4" 
Hex Cap Bolt 

5/16"Dia Hex Cap Bolt 
2 3/4" Long (UNC) 

B1H32 5/16" x 3 1/4" 
Hex Cap Bolt 

5/16"Dia Hex Cap Bolt 
3 1/4" Long (UNC) 

HDW023 5/16" x 3 1/2" 
Hex Cap Bolt 

5/16"Dia Hex Cap Bolt 
3 1/2" Long (UNC) 



Maple Leaf Wheelchair © 2021 
 

 
 

(All Images are for Visual reference please use the Part Description for determining the correct required part.) 

    Page | 6  
 

HDW024 1/4" x 3/4" 
Hex Cap Bolt  

1/4"Dia Hex Cap Bolt 
3/4" Long (UNC) 

 
 
 
 
 
 
 
 
 
 
 
 

1/ 
each 

 

B2H10 1/4" x 1" Hex 
Cap Bolt  

1/4"Dia Hex Cap Bolt 
1" Long (UNC) 

B2H12 1/4" x 1 1/4" 
Hex Cap Bolt 

1/4"Dia Hex Cap Bolt 
1 1/4" Long (UNC) 

B2H14 1/4" x 1 1/2" 
Hex Cap Bolt 

1/4"Dia Hex Cap Bolt 
1 1/2" Long (UNC) 

B2H16 1/4" x 1 3/4" 
Hex Cap Bolt 

1/4"Dia Hex Cap Bolt 
1 3/4" Long (UNC) 

HDW029 1/4" x 2" Hex 
Cap Bolt 

1/4"Dia Hex Cap Bolt 
2" Long (UNC) 

B2H20 1/4" x 2 1/4" 
Hex Cap Bolt 

1/4"Dia Hex Cap Bolt 
2 1/4" Long (UNC) 

HDW085 1/4" x 2 1/2" 
Hex Cap Bolt 

1/4"Dia Hex Cap Bolt 
2 1/2" Long (UNC) 

HDW107 1/4" x 2 1/2" 
Hex Cap Bolt 

1/4"Dia Hex Cap Bolt 
2 3/4" Long (UNC) 

B2H16G9 1/4" x 3" Hex 
Cap Bolt 

1/4"Dia Hex Cap Bolt 
3" Long (UNC) 

HDW115 1/4" x 1 3/4" 
Hex Cap Bolt 
 
(Grade 9) 

1/4"Dia Hex Cap Bolt 
1 3/4" Long (UNC) 
 
(Grade 9) 

 
 

 
2/ 

each 

 
 
 

 

HDW110 7/16" x 2 1/2" 
Hex Cap Bolt 

7/16"Dia Hex Cap Bolt 
2 1/2" Long (UNF) 
 
Used for the Super Tilt Pivot 
hinge 

 
 

3/ 
each 

 
 

 



Maple Leaf Wheelchair © 2021 
 

 
 

(All Images are for Visual reference please use the Part Description for determining the correct required part.) 

    Page | 7  
 

HDW069 #10-24 x 
13mm Joint 

Connection Nut 
 

(UNC) 

#10-24 x 13mm Joint 
Connection Nut (UNC) 
 
(Typically used to secure the 
Elbow Joint) 

 
 
 

1/ 
each 

 

HDW092 #10-24 
Phillips- 
Square 
Machine 
Screw x 1" 

#10-24 x 1" Long Phillips- 
Square Machine Screw (UNC) 
 
Used with the Elbow joint 

 
 
 

0.50/ 
each 

 

HDW088 1/4" x 3/8" 
Socket Head 
Screw 

1/4-20 x 3/8" Long 
Socket Head Screw. 
(UNC) 

 
 
 
 

1/ 
each 

 

HDW087 1/4" x 3/4" 
Socket Head 
Screw 

1/4-20 x 3/4" Long 
Socket Head Screw 
(UNC) 

HDW044 1/4" x 1 3/4" 
Socket Head 
Screw 

1/4-20 x 1 3/4" Long Screw.  
 
(UNC) 

 
 
 
 

0.50/ 
each 

 

HDW045 1/4" x 2 1/2" 
Socket Head 
Screw 

1/4-20 x 2 1/2" Long Screw. 
 
(UNC) 

HDW089 #10-32 x 1/4" 
Socket Head 
Screw 

#10-32 x 1/4" Long Socket Head 
Screw. 
(UNF) 

 
 

 
 

0.50/ 
each 

 

HDW043 #10-32 x 1" 
Socket Head 
Screw 

#10-32 x 1/4" Long Socket Head 
Screw 
(UNF) 



Maple Leaf Wheelchair © 2021 
 

 
 

(All Images are for Visual reference please use the Part Description for determining the correct required part.) 

    Page | 8  
 

HDW036 1/4" Phillips- 
Square 
Machine 
Screw x 1 1/4"  

1/4-20 x 1 1/4" Long Phillips- 
Square Machine Screw. 
(UNC) 

 
 
 
 
 
 

0.50/ 
each 

 
 
 

 
 

 

HDW096 1/4" Phillips- 
Square 
Machine 
Screw x 1 3/4" 

1/4-20 x 1 3/4" Long Phillips- 
Square Machine Screw. 
(UNC) 

HDW037 1/4" Phillips- 
Square 
Machine 
Screw x 2 1/2" 

1/4-20 x 2 1/2" Long Phillips- 
Square Machine Screw.  
(UNC) 

HDW015 #10 Phillips- 
Square 
Machine 
Screw x 1/2" 
 
(UNC) 

#10-24 x 1/2" Long Phillips- 
Square Machine Screw. 
(UNC) 

 
 

0.50/ 
each 

 
 
 

 

HDW035 1/4" x 1/2" 
Phillips- Square 
Machine Screw 
 

1/4-20 x 1/2" Long Round Cap 
Square Screw. 
(UNC) 
 

 
 

0.50/ 
each 

 
 

 

HDW150 1/4" x 7/8" 
Phillips- Square 
Machine Screw  

 

1/4-20 x 7/8" Long Round Cap 
Square Screw. 
(UNC) 
 

 
 

0.50/ 
each 

 

 

HDW151 1/4" x 7/8" 
Phillips- Square 
Machine Screw 
 
(Stainless-Steel) 

 

1/4-20 x 7/8" Long Round Cap 
Square Screw. 
(UNC) 
 

 
 

0.50/ 
each 

 

 



Maple Leaf Wheelchair © 2021 
 

 
 

(All Images are for Visual reference please use the Part Description for determining the correct required part.) 

    Page | 9  
 

HDW039 #10 x 1 1/4" 
Phillips- Square 
Machine Screw  

 
(UNF) 

#10-32 x 1 1/4" Phillips- Square 
Machine Screw 

 
 
 

.50/ 
each 

 

 

HDW120 1/4" x 1" 
Phillips-Square 
Machine Screw 
 

1/4- 20 x 1" Round Cap Square 
Pan Screw 
(UNC) 

 
 
 

.50/ 
each 

 

 

HDW033 1/4" x 1 3/4" 
Round Cap 
Allen Screw 

1/4-20 x 1 3/4" Long 
Round Cap Screw. 
(UNC) 

 
 
 

0.50/ 
each 

 
 

 
 
 

  

W3HSM #10-32  
x 2 1/4" Round 
Cap Phillips 
Screw 

#10-32 I.D x 2 1/4" Long Round 
Cap Phillips Screw. 
 
(Spoke Hand Rims Screw) 

 
 
 
 

0.50/ 
each 

 
 

 

 
W2HSC #10-32  

x 1 1/2" Round 
Cap Phillips 
Screw 

#10-32 I.D x 1 1/2" Long Round 
Cap Phillips Screw. 
 
(Mag Hand Rim Screw) 

HDW098 #10 x 1/2" 
Phillips-Square 
Machine Screw 

#10-32 x 1/2" Long Round Cap 
Phillips-Square Screw. 

 
 

0.50/ 
each 

 

 

 



Maple Leaf Wheelchair © 2021 
 

 
 

(All Images are for Visual reference please use the Part Description for determining the correct required part.) 

    Page | 10  
 

HDW152 #10 x 7/8" 
Phillips-Square 
Machine Screw 

#10-32 x 7/8" Long Round Cap 
Phillips-Square Screw. 

 
 

0.50/ 
each 

 

 

 

HDW153 #10 x 7/8" 
Phillips-Square 
Machine Screw 
(Stainless-Steel) 

#10-32 x 7/8" Long Round Cap 
Phillips-Square Screw. 

 
 

0.50/ 
each 

 

 

 

HDW097 #10 Round 
Cap Self 
Tapping 
Phillips- 
Square Screw 

#10 Round Cap Self Tapping 
Phillips- Square Screw. 

 
 

0.50/ 
each 

 
 

 

HDW046 #10 Flat Cap 
Self Tapping 
Square Screw 

#10 Flat Cap Self Tapping 
Square Screw. 
 
 
 
 
 

 
 

0.50/ 
each 

 
 
 

 

HDW050 1/4" x 1/2" Flat 
Head Screw 
(Coarse 
thread) 

1/4-20 x 1/2" Flat Head Screw. 
(UNC) 

 
 
 
 
 
 

0.50/ 
each 

 
 
 
 

 

HDW051 1/4" x 1/2" Flat 
Head Screw  
(Fine thread) 

1/4-28 x 1/2" Flat Head Screw. 
(UNF) 



Maple Leaf Wheelchair © 2021 
 

 
 

(All Images are for Visual reference please use the Part Description for determining the correct required part.) 

    Page | 11  
 

B4FM6 6mm x 35mm 
Flat Cap Hex 
Pan Screw 
(M6) 

6mm x 35mm Long (M6) 
Flat Head Screw 
 

 
 

0.50/ 
each 

 

HDW047 #10-32 Flat 
Cap Phillips- 
Square Pan 
Screw  
x 1"Long 
(Fine Thread) 

#10-32 Flat Cap Phillips- Square 
Pan Screw x 1"Long. 
 
(UNF) 

 
 
 
 
 
 

0.50/ 
each 

 
 
 
 

 

HDW048 #10-32 Flat 
Cap Phillips- 
Square Pan 
Screw  
x 1 1/4"Long 
(Fine Thread) 

#10-32 Flat Cap Phillips- Square 
Pan Screw  
x 1 1/4"Long. 
 
(UNF) 

HDW052 1" x 5/16"ID 
Radius Half 
moon 
Washers 

Half Moon Washer  
Having 5/16"ID for 1" tube.  

 
 
 
 
 
 
 
 
 
 
 
 

2/ 
each 

 

W1HM2 7/8" x 5/16"ID 
Radius Half 
moon 
Washers 

Half Moon Washer 
Having 5/16"ID for 7/8" tube. 

HDW054 1" x 1/4"ID 
Radius Half 
moon 
Washers 

Half Moon Washer  
Having 1/4"ID for 1" tube. 

W2HM1 7/8" x 1/4"ID 
Radius Half 
moon 
Washers 

Half Moon Washer  
Having 1/4"ID for 7/8" tube. 

HDW094 3/4" x 1/4"ID 
Radius Half 
moon 
Washers 

Half Moon Washer  
Having 1/4"ID for 3/4" tube. 



Maple Leaf Wheelchair © 2021 
 

 
 

(All Images are for Visual reference please use the Part Description for determining the correct required part.) 

    Page | 12  
 

WP11005 5/16" x 5/8" 
O.D. x 1/8"T 
Plastic Washer 

Washer having  
5/16" I.D x 5/8" O.D.  
x 1/8" Thickness. 

 
 

 
0.50/ 
each 

 

 

 

WP11203 5/16" x 5/8" 
O.D. x 3/16"T 
Plastic Washer 

Washer having  
5/16" I.D x 5/8" O.D.  
x 3/16" Thickness. 

HDW057 5/16" x 3/4" 
O.D. x 1/16"T 
 Steel Washer 

Washer having  
5/16" I.D x 3/4" O.D.  
x 1/16" Thickness (Steel). 

 
 
 
 
 
 
 
 
 
 

1/ 
each 

WP10401 5/16" x 3/4" 
O.D. x 1/16"T 
Plastic Washer 

Washer having  
5/16" I.D x 3/4" O.D.  
x 1/16" Thickness. 

HDW059 5/16" x 3/4" 
O.D. x 3/16"T 
Plastic Washer 

Washer having  
5/16" I.D x 3/4" O.D.  
x 3/16" Thickness. 

HDW060 5/16" x 3/4" 
O.D. x 1/4"T 
Plastic Washer 

Washer having  
5/16" I.D x 3/4" O.D.  
x 1/4" Thickness. 

HDW071 5/16" x 1"  
O.D. x 1/4"T 
Plastic Washer 

Washer having  
5/16" I.D x 1" O.D.  
x 1/4" Thickness. 

HDW072 1/4" x 5/8" 
O.D x 1/16"T 
Steel Washer 

Washer having  
1/4" I.D x 5/8" O.D.  
x 1/16" Thickness (Steel). 

 
 
 
 

 
 
 

 
1/ 

each 

 

HDW061 1/4" x 5/8" 
O.D. x 1/16"T 
Plastic Washer 

Washer having  
1/4" I.D x 5/8" O.D.  
x 1/16" Thickness. 

HDW062 1/4" x 5/8" 
O.D. x 3/16"T 
Plastic Washer 

Washer having  
1/4" I.D x 5/8" O.D.  
x 3/16" Thickness. 

HDW064 1/4" x 1" O.D x 
5/16"T Plastic 
Washer 

Washer having  
1/4" I.D x 5/8" O.D.  
x 5/16" Thickness. 



Maple Leaf Wheelchair © 2021 
 

 
 

(All Images are for Visual reference please use the Part Description for determining the correct required part.) 

    Page | 13  
 

HDW111 3/16" x 5/8" 
O.D x 1/16"T 
Steel Washer 

Washer having  
3/16" I.D x 5/8" O.D.  
x 1/16" Thickness. 

 
 
 

0.50/ 
each 

 

HDW065 3/16" x 1/2" 
O.D x 1/16"T 
Steel Washer 

Washer having  
1/8" I.D x 1/2" O.D.  
x 1/16" Thickness. 

 
 
 

0.50/ 
each 

 

HDW066 3/16" x 5/8" 
O.D. x 1/8"T 
Steel Washer 
Cup 

3/16" x 5/8" O.D. x 1/8"T Steel 
Washer Cup. 
 
(Typically used for seat 
upholstery screws) 

 
 
 

1/ 
each 

 

HDW070 1/4" x 1/2" 
O.D x 1/16"T 
Curved 
Washer 

Curved Washer having 
1/4" I.D x 1/2" O.D  
x 1/16" Thickness. 

 
 
 
 
 

1/ 
each 

 

HDW073 5/16" x 3/4" 
O.D x 1/8"T 
Curved 
Washer 

Curved Washer having 
5/16" I.D x 3/4" O.D  
x 1/8" Thickness. 

 

 

 

 


